10.

11.

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24.
25.
26.
27.
28.
29.

e T

H032029 Pra(Stepr
U~y
MATH 0320 29 Free Response
Factor 40x3y” — 50z%y*
Solve 2 + 14z +24 =0
Solve 24 — 11z + 22 =0
Solve 2512 — 64y?
Factor xy — 5z — Ty + 35
Solve 4z% + 16z + 15 =0

Solve 2z3 + 2822 4+ 48z = 0

Simplify 2w2:E40

Simplify 4:8;; ) . 2537_73
Simplify —fzaT_bzb

Simplify zz;gf’; 2. iig
f(z) =222 — 3z + 10, find f(—4)

Solve |z +2| =8

Solve |z — 2] < 8

Solve |z — 3| > 8

Solve —8 < 2z — 10 < 200
Simplify /288427

Simplify $/64212y17

Evaluate (-3 — 7i) — (—2 + 104)
Evaluate (3 — 5i)(—2 — 7i)
Evaluate 10243/10

Solve vz —2=9

Solve (z —2)? =16

Solve 22 + 2z 41 =7

Solve 22 4+ 2z +1 = —36
Solve z2 — 10z = 0

f(z) = 51000(1.10)%, find f(2)
Graph f(z) = -2z +4

Graph f(z) =22 -4
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